FHOEFEREBRAEREEME
[E& (FLF)AE]
[REEFR]
B3 BRI
B % RS EEFHSE [ sYE VEYE =SH  OEYBLL
LTS (BRIBEED) 801 83.3% 49.1% 88.0% 98.6% 14.7% 96.4% 87.7%
Bis RIERESD) 127 12.7% 39.1% 9.7% 0.6% 69.5% 0.5% 12.3%
SERI 21 2.2% 6.4% 1.6% 0.1% 10.1% 3.1% 0.0%
KIS - JELE
EEE
B 965:  100.0% 100.0%: 100.0% 100.0%: 100.0%  100.0%: 100.0%
chi2(4) =88.0054 P = 0.0000 chi2(12)=696.1616 P = 0.0000
B4 BEOBE FSEEATVENECAIERIE
B i % RIS *EFRE | svE VEYE St UEYBLL
SR8 22 2.4% 1.4% 2.0% 5.2% 0.5% 4.8%
REGEOEH#HE 109 10.9% 14.4% 8.7% 18.7% 8.9% 34.9%
ABELENERE 28 3.1% 1.7% 2.3% 5.4% 4.0% 0.0%
DB - REHE - BEHE 52 5.0% 6.9% 5.1% 4.9% 6.5% 0.0%
K=k - PN k- BEVE 47.4% 51.0% 38.7% 37.2%
HEL (REHEEEa0) 4.7% 6.5% 3.2% 14.2%
Ef:EES
Gif N3]
ZOHmoBmEAELTLS
EEE3 | 182 18.8%] 13.2% 18.5%]
24
3152 GRE)
Z Doy R
h L
mEE 35 5.3% 0.6%: 14.0%: 0.0%: 0.0%
B 965: 100.0%[  100.0%: 100.0%]  100.0%: 100.0%: 100.0%: 100.0%|
chi2(11)=29.2304 P = 0.0108 chi2(36)=186.6317 P = 0.0000
M4 (3) BEOBDBEME [HHREZ)
B % RIS EEFRE || s7YB VEYE SH  UEYBLL
EEEK 730
1. %8 52 7.2% 16.7% 6.6% 3.4% 15.1% 10.7% 21.7%
2. RWENH
3. LIBH 314 42.7% 53.2% 41.9% 40.1% 50.0% 41.1% 47.0%
4 BIE - RAHY 238 32.9% 57.8% 31.7% 27.7% 43.4% 36.3% 52.3%
5 0 43 6.5% 1.8% 7.2% 5.4% 8.0% 8.3% 12.2%
6. FADB RN OB 292 40.5% 29.8% 41.7% 44.2% 34.6% 35.1% 26.0%
A 42 5.4% 2.5% 4.5% 5.2% 4.1% 9.2% 5.8%
1. chi2(1)= 8.3587 P =0.0190 chi2(3)=31.4717 P =0.0001
2. chi2(1)=2.8519 P =0.2296 chi2(3)=19.4131 P =0.0067
3. chi2(1)=3.0892 P =0.1230 chi2(3)=4.1122 P = 0.4060
4. chi2(1)=17.7203 P = 0.0002 chi2(3)=16.2592 P =0.0098
5. chi2(1)=2.8260 P =0.1234 chi2(3)=3.1876 P =0.4784
6. chi2(1) = 3.4932 P =0.0977 chi2(3)=7.4168 P =0.1631
4EEZ chi2(1)= 0.5656 P =0.4427 chi2(3)=3.0654 P = 0.4401
M5 REOBE
B % 1EFT1S JEEFE || S7YE VEYE St UEYBLL
SHBE 95 9.6% 2.6% 10.4% 11.4% 4.0% 8.7% 4.8%
RMSXOE#S 433 44.4% 24.6% 48.5% 51.2% 11.6% 52.0% 51.1%
ABELENERE 72 7.5% 4.8% 7.8% 8.5% 4.0% 6.9% 10.1%
LIS - REHE - BELE 27 2.7% 1.4% 3.0% 3.8% 0.0% 1.4% 0.0%
SS— bk - TN k- BEVE 21 2.2% 2.2% 2.3% 2.8% 1.5% 0.6% 0.0%
BEE (REMEEESD) 11.8% 12.2% 3.8% 23.2% 14.2%
EL:ZES
Gifz N3]
ZOmOEBEAELTNS
HEIX
X3
3158 GRE)
Z Do EH
hh iy
mEE 149; 15.1% 45.8%: 3.0% 69.9%: 2.0%: 12.3%
w Il 965! 100.0%[ 100.0%: 100.0%]  100.0%: 100.0%: 100.0%} 100.0%|

chi2(12)=98.4983 P = 0.0000

chi2(36)=532.7567 P = 0.0000



FHOEFEEAEREEMAE
(B& (FoE) HE)
B5 (3) XRPEDOHBME [EHEZE]
EH % BRI RIS AYUE VEYH =R VEYELL
EIEHK 796
1. k& 102 12.3% 14.1% 12.9% 12.7% 5.1% 14.8% 3.0%
2. ®REH 78 10.2% 15.3% 11.8% 11.3% 5.0% 7.1% 15.1%
3. TELE 418 50.9% 50.4% 53.6% 51.6% 19.5% 57.0% 43.2%
4. HEE - SIELEEH 318 39.1% 48.3% 40.9% 38.4% 25.8% 48.5% 36.7%
5. T 51 6.7% 3.3% 6.7% 6.4% 7.7% 7.3% 8.5%
6. FADBHRLUNDENFE LAY 225 29.1% 27.0% 29.9% 30.9% 40.4% 18.7% 31.8%
EEE 70 8.9% 7.1% 5.8% 7.9% 19.8% 9.7% 5.5%
1. chi2(1)= 0.0536 P =0.8328 chi2(3)=4.5872 P =0.1596
2. chi2(1)=0.4882 P =0.5623 chi2(3)=3.7999 P =0.3697
3. chi2(1)=0.1678 P =0.7321 chi2(3)=18.2171 P =0.0036
4. chi2(1)=0.9306 P =0.4191 chi2(3)=7.7321 P =0.1279
5. chi2(1)=0.8179 P =0.3086 chi2(3)=0.3144 P =0.9669
6. chi2(1)=0.1734 P =0.7495 chi2(3)=9.8926 P = 0.0868
#EE chi2(1)=0.1208 P =0.7181 chi2(3)=7.0664 P = 0.1419
6 ReOHLEDKERR GBEIFMHIC)
EH % BFIE JEIRATIS SYUE VEYE = VEYELL
otz 873 91.2% 80.2% 93.3% 92.9% 79.6% 96.5% 100.0%
bt 60 5.7% 13.6% 4.9% 4.8% 12.3% 2.9% 0.0%
EEE 32 31.3% 6.3% 1.8% 2.3% 8.0% 0.6% 0.0%
firoy:d 965 100.0% 100.0% 100.0% 100.0% 100.0% 100.0% 100.0%
chi2(2)=17.7480 P =0.0002 chi2(6)=37.4618 P = 0.0000
e (1) RetodibEMNKEL T HEA
EH BT #E FEEFT1S A=Y VEYH =it DEYEBLL

HBERMTEOEENEDEL
FERBRLNEOAN LN ST
BERFBELEOFEERIET

AR, ARFOBRRAShEN O
Z Ot

EEE

W

60}

100.0%: 100.0%

100.0%:

100.0%: 100.0%

100.0%

chi2(5)= 5.3697 P =0.3801

chi2(10)=7.9749 P = 0.6854

M6 (2) HELMELSIhI-EHOLER Hiﬁlil%_] *&»7)»%17&‘#%‘!:'}*721,\1“:_&)\Eﬂéhtiﬁ\cf:lﬁﬁli%ﬂﬁbf:n
BER T % || EmE ! HERE || SEYE | UEYR

mEEK

1. FmsEH
FEOEH
RIEER O
o

EEELT
ettt
fERBAT

8. P RUAT

9. REREE

10. R AE T

1. SEREL

12. FaReELt
13. {R{2ER

14. &Rttt

15. R— L~ jL/i—
16. R&EL

1. DEBAY 25—
18. REL - HHEHE
19. 88% Uh-$ &)
20. EREH

21. BELER

22. XV A UEERRE
GEFBEER
V- XA
CEREL

BiEL

ATHEL

28 TBEBEREF
29. K& - HIEE P ERE
30. £t

E=A

BEE

N oo

. chi2(1)= 0.0067 P =0.9447
2.
4.

15.

18.

22.

29.

chi2(1)= 2.1359
chi2(1)= 2.1359
chi2(1)= 0.0002
chi2(1)= 5.1399
chi2(1)= 0.3238

P =0.2105
P =0.2105
P =0.9905
P =0.0643
P =0.5393

A% chi2(1) 04149 P =05213

=ttt | 0EYBBL |

chi2(1)=0.0969
chi2(1)=1.7779
chi2(1)=1.7779
chi2(1)=0.0628
chi2(1)=4.4009
chi2(1)=0.4167
chi2(1)=0.5355

P =0.7899
P =0.7899
P =0.2607
P =0.2607
P =0.8388
P =0.0909
P =0.5041
P =0.4838



Ft 0)5%%?? REREEMR

(& (FLH)HRAE]
8 (1) FHMNE-I-CLAHIEEHA [ EE]
E % EE FHEFTTS AYE VEYE = VEYELL
EEEH 965
1.REm (T.o_I) 305 31.1% 47.6% 28.2% 26.8% 47.2% 25.1% 46.0%
2. REA (FRED 40 4.3% 9.5% 3.5% 3.2% 7.4% 4.2% 10.1%
3 EBADRE M 35 3.9% 4.3% 4.2% 2.7% 11.0% 1.5% 8.4%
4. HHE (E)
5. HME (FA3L) 557 56.7% 48.3% 60.2% 60.7% 39.3% 60.4% 67.2%
6. SMEE (A3) 86 11.1% 9.9% 10.7% 12.1% 8.0% 13.5% 3.1%
1.2 (B3I 23 2.5% 3.9% 1.9% 2.3% 2.4% 2.8% 0.0%
8. INERR (A3L) 876 90.9% 81.7% 92.8% 91.8% 86.9% 93.0% 81.1%
9. INERR (FAIL) 29 3.5% 8.5% 3.3% 4.2% 1.4% 0.6% 18.9%
10. 224 (EIL) 22 2.2% 2.9% 2.0% 1.4% 2.5% 3.7% 0.0%
11, R2AR (A31) 743 75.2% 70.0% 75.4% 74.7% 75.7% 79.3% 63.3%
12. h224R (FASL) 155 18.7% 20.3% 20.2% 20.8% 12.5% 15.2% 36.7%
13. &1 (Esxx) 21 2.3% 3.6% 2.1% 1.6% 2.1% 4.2% 4.8%
14. &8 (A1) 525 51.9% 52.4% 51.2% 52.0% 55.4% 45.6% 51.0%
15. &k (FA3L) 390 43.9% 39.4% 46.3% 45.0% 34.2% 52.7% 54.3%
EEE
1. chi2(1)= 13.7481 P = 0.0009 chi2(3)=29.4653 P = 0.0001
2. chi2(1)=  7.0315 P = 0.0307 chi2(3)=7.8155 P =0.1927
3. chi2(1)=  0.0007 P = 0.9813 chi2(3)=25.6541 P = 0.0001
4. chi2(1)=  0.4703 P = 0.4838 chi2(3)=8.7805 P = 0.0652
5. chi2(1)= 45317 P = 0.0579 chi2(3)=25.1377 P = 0.0004
6. chi2(1)=  0.0556 P = 0.8240 chi2(3)=4.5068 P = 0.3443
7. chi2(1)=  1.3425 P = 0.2519 chi2(3)=0.8115 P = 0.8951
8. chi2(1)= 12.3427 P = 0.0026 chi2(3)=7.4845 P =0.1797
9. chi2(1)= 57162 P = 0.0648 chi2(3)=24.3234 P =0.0004
10. chi2(1)=  0.2735 P = 0.5958 chi2(3)=3.9299 P =0.3989
11. chi2(1)=  1.2279 P = 0.3426 chi2(3)=3.3043 P = 0.5420
12. chi2(1)=  0.0003 P = 0.9892 chi2(3)=12.2904 P = 0.0605
13. chi2(1)=  0.7640 P = 0.3724 chi2(3)=4.4854 P = 0.3675
14, chi2(1)=  0.0491 P = 0.8431 chi2(3)=2.8288 P = 0.5586
15. chi2(1)=  1.4488 P = 0.2984 chi2(3)=11.3014 P =0.0435
A% chi2(1)=  1.6660 P = 0.2082 chi2(3)=11.2618 P = 0.0087
B8 (2) HPEZEXHICRIFTSE-VEERE
EH % B FEFS A=Y VEYHE =i VEYELL
BRET 112 10.9% 26.3% 7.6% 8.2% 22.2% 5.4% 10.2%
K- BE - EfEKR 176 16.4% 15.1% 16.8% 15.1% 20.4% 16.5% 10.6%
REBLUVZALUL 74.9% 76.0% 54.6% 77.5% 74.9%
EFLTIELWERDGA ST
EEE
finy4 100.0%: 100. 100.0%; 100.0%

9 FHMNRHTWIEFENHE

chi2(4)= 38.0572 P = 0.0000

chi2(12)=49.6925 P = 0.0000

EH % EFTS JFHEFT1S AYE vEYE =t [ UEYBSL
BREOEZEER -/ IFTTLD 34 3.3% 7.3% 3.0% 2.2% 8.8% 2.8% 0.0%
HEERORPELEZH /TS 158 18.6% 18.3% 21.2% 15.3% 24.7% 25.8% 17.6%
ZTOMDEZEEZZT-/ZIFTTWLD
St o=/ ZHTOEN 723 73.5% 71.6% 72.3% 78.8% 56.7% 69.3% 77.6%
|EE 43 3.9% 1.5% 2.8% 3.5% 6.9% 1.7% 4.8%
B 965 100.0% 100.0% 100.0% 100.0% 100.0% 100.0% 100.0%

chi2(4)=  5.1566 P = 0.2990 chi2(12)=54.4427 P = 0.0000

10 (1) BOREKE

EH % EFTS JFHEFT1S AYE vEYE =t [ UEYBBL
BLY 371 37.8% 31.3% 40.4% 39.8% 26.2% 43.5% 30.5%
EFHERL 168 18.8% 16.4% 20.0% 19.3% 16.6% 20.8% 22.1%

TiE 326 33.2% 26.2% 31.5% 31.9% 41.7% 30.7% 21.9%

hFEYRLEL 24.5% 7.3% 8.0% 11.2% 4.4% 25.5%
B
EEE
B 965 100.0% 100.0% 100.0% 100.0%; 100.0%: 100.0%; 100.0%

10 (2) FHOBEKE

chi2(5)= 29.2370 P = 0.0002

chi2(15)=44.5292 P = 0.0029

EH % EFTG JEHEFRIS AtYE VEYE =i [ UEYBSL
BLY 520 52.9% 39.4% 55.0% 56.1% 40.0% 57.3% 35.0%
EFHERL 17 18.3% 18.9% 18.8% 16.9% 21.5% 22.6% 25.5%
gt 33.3% 24.0% 25.0% 35.3% 18.6% 27.7%
HEYRCHEL
B
EEE
B 965 100.0%; 100.0% 100.0%; 100.0%: 100.0%; 100.0%

chi2(5)= 18.6481 P = 0.0070

20

chi2(15)=44.9076 P = 0.0032




FHOEFTEEATREEMNR

[E& (FLF)AE]
B11 (a) EBRIFATHLHNT & THRE
EH % 1EFT1S JEEmE || sYE VEYE =t UEYBLL
FEAERN 680 69.4% 56.7% 71.7% 73.3% 54.7% 69.5% 61.7%
1~2H 187 20.1% 30.7% 19.0% 18.2% 27.0% 20.4% 21.7%
3~4H 39 4.5% 7.6% 4.5% 3.7% 4.9% 6.3% 16.6%
5ELE 21 2.2% 0.7% 2.1% 1.7% 5.1% 1.2% 0.0%
|EE 38 3.9% 4.3% 2.7% 3.1% 8.4% 2.6% 0.0%
B 965 100.0% 100.0% 100.0% 100.0% 100.0% 100.0% 100.0%
chi2(4)= 10.5202 P = 0.0535 chi2(12)=40.5419 P =0.0019
11 (b) MEICERTERL
EH % 1EFT{S JEEmE || sYE VEYE S UEYESL
FEAERN 666 68.6% 64.4% 69.2% 70.5% 60.6% 67.0% 74.5%
1~28 197 20.6% 23.1% 20.7% 19.8% 22.5% 24.7% 11.0%
3~4H 42 4.8% 6.7% 5.1% 4.3% 5.7% 3.6% 14.5%
5AUE
|EE 42 4.3% 5.9 2.8% 3.5%: 9.4%: 2.8%: 0.0%
B Il 965} 100.0%  100.0%: 100.0%]  100.0%: 100.0%: 100.0% 100.0%|
chi2(4)=  4.9254 P = 0.3908 chi2(12)=24.2392 P = 0.0630
11 (c) ZHRAATLS
EH % 1EFT1S JEEmRE || sYE VEYE S UEYESL
FEAERN 643 66.6% 52.2% 70.2% 69.0% 55.3% 68.8% 69.2%
1~28 212 21.8% 25.1% 20.9% 21.1% 24.2% 23.4% 15.9%
3~4H 46 5.0% 13.1% 3.8% 3.8% 8.0% 4.7% 14.9%
58U 27 2.7% 2.8% 2.8% 2.8% 4.0% 1.7% 0.0%
EEE 37 3.9% 6.8% 2.4% 3.3% 8.5% 1.5% 0.0%
B 965 100.0% 100.0% 100.0% 100.0% 100.0% 100.0% 100.0%
chi2(4) = 23.1321 P = 0.0005 chi2(12)=29.0623 P = 0.0202
M1 (d) x50 EE:E
EH % RIS JEERE || sYE VEYE St UEYBLL
FEAERL 500 51.9% 45.5% 52.5% 52.0% 46.0% 56.8% 59.6%
1~28 303 31.5% 33.1% 32.7% 33.3% 26.2% 30.2% 22.8%
3~4H 71 7.4% 11.6% 6.7% 5.4% 14.7% 7.8% 10.6%
58U 53 5.3% 3.7% 5.7% 6.0% 5.3% 3.3% 7.0%
EEE 38 3.8% 6.0% 2.3% 3.4% 7.9% 2.0% 0.0%
B 965 100.0% 100.0% 100.0% 100.0% 100.0% 100.0% 100.0%
chi2(4)= 7.6339 P =0.1679 chi2(12)=30.4207 P =0.0201
11 (e) FRICHLTELERTS
EX % 1EFT1S EEFRE || s7-YB VEYE =t UEYESL
FEAERN 344 36.2% 40.5% 33.5% 34.4% 37.6% 32.6% 59.0%
1~28 218 22.6% 19.2% 23.9% 21.5% 22.5% 34.2% 5.8%
3~4H 142 15.0% 10.8% 17.7% 17.6% 9.1% 9.2% 14.5%
5L 163 16.8% 19.9% 18.0% 17.0% 16.7% 19.3% 14.6%
A 98 9.4% 9.7% 7.0% 9.5% 14.1% 4.8% 6.2%
BE 965 100.0% 100.0% 100.0% 100.0% 100.0% 100.0% 100.0%
chi2(4)= 4.9054 P = 0.3769 chi2(12)=32.6752 P =0.0070
Bl (f) HLERELD
EX % 1EFT1S EEFRE || s7-YB VEYE =it UEYESL
FEAERN 721 74.6% 65.7% 77.4% 74.9% 68.1% 83.3% 67.9%
1~28 135 14.0% 15.1% 14.4% 15.2% 13.1% 5.2% 20.3%
3~4H 31 3.3% 9.1% 2.6% 2.4% 5.1% 4.7% 11.8%
5L 22 2.3% 3.1% 1.7% 2.2% 3.8% 2.1% 0.0%
mEE 56 5.8% 7.1% 3.9% 5.3% 10.0% 4.7% 0.0%
BE 965 100.0% 100.0% 100.0% 100.0% 100.0% 100.0% 100.0%
chi2(4)= 14.0349 P = 0.0209 chi2(12)=29.1732 P = 0.0431
11 (g) BAEHMERAL
EX % BRI EEFRE || s7-Y8B VEYE SH  UEUBSL
FEAERN 684 69.7% 60.8% 71.9% 72.1% 58.4% 72.0% 72.7%
1~28 152 16.6% 19.8% 16.6% 16.0% 17.2% 17.0% 19.9%
3~4H 49 5.3% 8.1% 5.0% 4.4% 8.7% 5.0% 0.0%
5HALE 41 4.5% 6.9% 4.0% 3.5% 8.7% 4.5% 7.5%
mEE 39 4.0% 4.3% 2.5% 4.0% 6.9% 1.5% 0.0%
BE 965 100.0% 100.0% 100.0% 100.0% 100.0% 100.0% 100.0%
chi2(4)= 5.7082 P = 0.2968 chi2(12)=24.0946 P =0.0998
B11 (h) £FZELATLS
EX % BRI EEFRE || s7-Y8B VEYE SH  UEUBSL
FEEAERN 240 24.5% 30.0% 21.8% 23.5% 21.1% 25.3% 48.7%
1~28 251 26.2% 19.0% 28.4% 26.8% 24.4% 29.1% 11.6%
3~4H 186 20.1% 23.4% 21.6% 19.7% 20.7% 19.6% 32.5%
5HALE 216 22.1% 22.3% 23.4% 23.2% 22.5% 21.1% 7.6%
EEE 72 7.1% 5.4% 4.9% 6.9% 11.3% 5.0% 0.0%
By 965 100.0% 100.0% 100.0% 100.0% 100.0% 100.0% 100.0%
chi2(4)= 4.9433 P = 0.3658 chi2(12)=22.1505 P =0.1482
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Ft wi,ﬁsﬁ HEREEME
[F&(FLE)RE]

11 (i) WMLLWERLD

EH % EFE FE/FEF AYE VEYH =R UEYBESL
FEAELG 669 69.4% 58.6% 71.6% 73.3% 51.6% 74.5% 68.8%
1~2H 168 17.4% 18.5% 18.2% 15.7% 24.6% 15.3% 14.6%
3~48 46 4.6% 7.1% 4.3% 3.7% 5.8% 5.9% 12.3%
5AUE 39 4.2% 9.4% 3.7% 3.9% 8.2% 2.3% 0.0%
EEE 43 4.4% 6.4% 2.3% 3.5% 9.9% 2.1% 4.4%
fiyd 965 100.0% 100.0% 100.0% 100.0% 100.0% 100.0% 100.0%

chi2(4)=" 13.6303 P = 0.0234 chi2(12)=42.1593 P = 0.0007

B11 () A%EF3IE, GALEAPIRNEI 54

EH % BEFIS FERET AYE VEYE =R UEYBESL
FEAEL 498 52.2% 45.1% 53.1% 53.8% 42.8% 53.6% 58.5%
1~2H 287 29.0% 30.5% 30.7% 29.2% 29.1% 29.4% 25.9%
3~4H8 79 8.0% 11.9% 7.3% 6.5% 12.8% 9.2% 10.6%
5HUE 58 6.1% 6.6% 6.2% 6.4% 6.6% 4.1% 7.0%
EEE 43 4.7% 6.0% 2.8% 4.0% 8.8% 3.7% 0.0%
fiyd 965 100.0% 100.0% 100.0% 100.0% 100.0% 100.0% 100.0%

chi2(4)= 55580 P = 0.3229 chi2(12)=18.5255 P = 0.3149

12 FHEZERBBEICSDIBUNSI-ILENHD

B % BEFE FEREF AYE VEYE =R P UEYESL
Hot= 111 11.8% 24.6% 11.8% 11.4% 17.7% 5.9% 22.0%
ot 838 86.6% 74.1% 86.8% 86.7% 79.5% 94.1% 78.1%
EEE
B 965: 100.0% 100.0%: 100.0% 100.0%: 100.0%: 100.0%: 100.0%

chi2(2) = 10.8713 P = 0.0146

chi2(6)=16.4955 P = 0.0680

12 (1) FHEERBBICZZ LGNS -EE

AHERFRRITMA L TLEN
REIZIZMA. BERESEXZT

SHEFT1S

VEYH

=

VEYBESL

FHREANRE LERDHEM ST | 47i 4584 38.7%: 51.1% 47.2%: 40.2%: 44.3%:
ERMEE THAE GERH RS
EREEICER T BRAEA S 19.0%; 28.2%
BFEHTILIEHTEN LS H 27.5%;
Zofh
i 100.0%: 100.0% 100.0%: 100.0%  100.0%: 100.0%
‘ chi2(5)= 10.8244 P = 0.0939 chi2(15)=23.4943 P =0.1614
13 BROSKRPFE
EH T % 1S EEFRE || s7-YB VEYE St UEYBLL
BEYR (BESK) 282 28.3% 35.9% 26.5% 27.7% 31.2% 28.1% 23.4%
BEYR (BEEMYR) 33 3.5% 4.4% 3.3% 3.0% 5.0% 2.6% 10.1%
Sk 168 16.2% 15.9% 16.7% 14.9% 17.0% 21.7% 18.6%
EE IR
EEEK - TEEK 68 7.3% 8.3% 7.0% 7.7% 6.6% 6.7% 10.1%
EHAY 178 19.4% 14.8% 19.1% 20.1% 13.9% 25.2% 19.7%
bef: PN 11.1% 20.9% 20.1% 10.4% 13.7% 18.1%
PNl
Z0fs
hh sy
mEE . 2.3%; 2.7%: 6.7%: 1.7%; 0.0%
w Il 965 100.0%  100.0%: 100. 0%][ 100.0%; 100.0%: 100.0%; 100.0%|
chi2(10)=  15.7631 P = 0.2747 chi2(30)=61.0125 P =0.0187
BM13 (1) BEOBRRICE-H-ZROZE FEOHE
B % 1EFT1S EEFRE || s7-YB VEYE SHR  UEYBSL
ZgL 871 89.9% 88.1% 91.6% 0.9147 0.7907 0.9551 1
3R L 1= 49 4.9% 7.3% 4.9% 0.0465 0.0794 0.0189 0
Z 0t
mE%E 41 4.9% 4.6%: 3.1% 0.0358: 0.1184: 0.026: 0
BE Il 965! 100.0%[ 100.0%: 100.0%]  100.0%: 100.0%: 100.0%: 100.0%|
chi2(3)= 1.9556 P = 0.6017 chi2(9)=33.8047 P =0.0013
14 RPOSKFE
By i % EFTS SHEFS || Ay [ =t UEYELL
BEER (EESK) 192 18.4% 31.2% 15.8% 18.5% 15.7% 22.4% 9.7%
BEYR (SRR 24 2.2% 1.8% 2.1% 2.4% 2.2% 0.0% 3.1%
S 126 12.3% 9.0% 13.2% 12.0% 11.1% 16.8% 10.7%
EE IR '
EEER - TEEK 4.0%:
foh cpN-
befe PR 369 41.7% 23.7% 45.6% 45.4% 25.9% 42.2% 61.2%
Kz 49} 5.4% 2.7% 5.9% 6.3% 1.6% 6.1% 3.1%
Z0fs 31i 3.1% 4.2% 2.8% 3.3% 4.6% 1.7% 0.0%
hh iy
EEE 69 6.9% 15.5%! 3.7% 2.2%: 28.6%: 2.3%: 2.7%
By | 965! 100.0%|[ 100.0%: 100.0%]| 100.0%: 100.0%: 100.0%: 100.0%|

chi2(10)=  66.5845 P = 0.0000

22

chi2(30)=208.6998 P = 0.0000



Ft @E,ﬁseﬁ.. HEREEME
[F&(FLE)RE]
14 (1) REOBRICEEFROEE HROEE
)3 % EFE FE/FEF AYE VEYH =R UEYBESL
FEL 810: 84.2% 67.4% 87.9% 90.5% 58.3% 87.2% 86.8%
B LTz 72: 7.1% 10.4% 7.1% 6.7% 6.9% 8.4% 5.8%
Z Dt
EEE 75 7.5% 4.0% 2.1%; 31.2%; 2.2%; 7.5%
fiyd | 965! 100.0%]| i 100.0%]| 100.0%; 100.0%; 100.0%; 100.0%|
chi2(3)=" 39.0276 P = 0.0000 chi2(9)=178.5808P = 0.0000
15 RiEME BEHH15EOE
EH % EFE FEREF AYE VEYE =R P UEYESL
mMBREF ERXRBLEORBHY) 206 22.0% 19.0% 22.0% 22.1% 15.7% 30.2% 25.5%
mMREH ERXBEORBLEL) 65.3% 60.1% 66.7% 66.4% 62.6% 63.7% 62.2%
BFiE ERXBLOREHY)
BFiE ERXBLEORBAEL)
RFtEH ERBEORBHY)
RFtEH ERXRBEORBLEL)
REFEERYT & DI
Z Dt
EEE
fiyd 100.0% 100.0%; 100.0% 100.0%; 100.0%; 100.0%; 100.0%

chi2(7)= 13.3400 P = 0.1535

chi2(21)=42.7504 P =0.0391

16 BHN15ROEBORENES LAZFIZONT

B % B FIEFTIE AYE VEYE =R P UEYBESL
REZLM ST 68 7.2% 6.5% 6.2% 6.8% 10.2% 2.6% 0.0%
PPRELMST 165 17.0% 23.3% 18.1% 16.9% 21.7% 16.2% 10.5%
R’ 484 49.3% 51.2% 46.5% 48.6% 49.5% 49.2% 61.6%
PO EYRH T 170 17.6% 13.3% 19.5% 18.7% 10.0% 23.7% 20.2%
REDEYDNH T 68 7.7% 4.5% 9.2% 8.0% 6.8% 6.5% 7.6%

EEE
W 965 100.0% 100.0%: 100.0% 100.0%: 100.0%: 100.0%: 100.0%
chi2(6)= 5.7957 P = 0.4414 chi2(15)=21.3922 P = 0.3596
17 BANSETICHRRLAMEE [(BHEIE]
EH % EFE SHEFIRE || S7YE VEYE =K P UEYBBL
mEEHK 965
1. BAY BHEIICHRAEE L1 73 7.8% 16.6% 6.2% 6.2% 19.2% 2.6% 4.8%
2. RAT BRICHEANEEREER T TV
S RAT BHICEERATHo1z 24 2.6% 0.7% 2.8% 1.9% 3.4% 3.6% 0.0%
4 RRAT BRNRBATL o1 46 5.4% 7.1% 5.2% 5.9% 5.9% 1.6% 0.0%
S BNLRNERDIDN-CENHS 64 6.7% 11.7% 6.9% 6.5% 12.3% 3.3% 0.0%
6. RBENRNESDIDNI-CENHD 61 6.2% 16.8% 5.4% 3.4% 19.5% 4.5% 0.0%
T FEDTEBRE KT LR L 56 5.3% 7.1% 5.3% 5.1% 7.1% 4.6% 5.3%
8 BERBEICA BN HD
9. HEPLERTI ORI -fz2 & 47 4.9% 5.0% 5.4% 6.0% 3.3% 2.1% 4.4%
10. A FEEFLTVLIDTIHEMATL 67 6.7% 9.1% 7.0% 7.8% 4.0% 5.8% 0.0%
N BREZEZACELHD 88 9.2% 23.6% 8.5% 7.2% 18.9% 8.1% 10.1%
12. ERBVThHBRLEZZ EALN 563 57.5% 39.9% 59.4% 60.6% 39.2% 68.0% 51.7%
"EE 69 6.5% 7.9% 4.3% 5.8% 7.5% 5.1% 23.7%
1. chi2(1)= 12.4129 P = 0.0011 chi2(3)=35.2671 P = 0.3596
2. chi2()= 00533 P = 0.8459 chi2(3)=1.1718 P = 0.7899
3. chi2()=  1.3688 P = 0.1374 chi2(3)=2.6579 P = 0.6079
4. chi2(1)= 05637 P = 0.4808 chi2(3)=5.7546 P =0.1728
5. chi2(1)=  2.5969 P = 0.1297 chi2(3)=11.9753 P = 0.0306
6. chi2(1)= 158452 P = 0.0003 chi2(3)=59.1868 P = 0.0000
7. chi2(1)=  0.4436 P = 0.5415 chi2(3)=chi2(3) P =0.8108
8. chi2(1)= 00358 P = 0.8176 chi2(3)=2.0153 P = 0.6027
9. chi2(1)=  0.0264 P = 0.8703 chi2(3)=4.6461 P =0.2210
10. chi2(1)= 05277 P = 0.5105 chi2(3)=5.0825 P = 0.2487
11. chi2(1)=  19.1406 P = 0.0001 chi2(3)=20.6311 P = 0.0089
12. chi2(1)= 11.9875 P = 0.0020 chi2(3)=29.7533 P = 0.0001
EEIE chi2()= 22938 P = 0.2290 chi2(3)=14.4089 P = 0.0199
18 BENRKENELLEE(ZDONT
EH % B SEHEFRE || SFUH VEYE =K UEYBEBL
AEHLWL 117 12.0% 37.9% 8.8% 7.1% 30.0% 11.9% 12.3%
PrELND 285 27.6% 37.2% 28.0% 25.5% 35.1% 26.9% 30.8%
EaE 400 41.0% 19.9% 40.3% 44.8% 24.2% 43.0% 45.0%
PR EYHHD 118 14.0% 2.6% 18.0% 18.8% 2.7% 8.4% 4.4%
REDPEYHHD 30 4.0% 2.4% 4.5% 2.4% 5.1% 9.8% 7.6%

"EE
#BH

965! 100.0% 100.0% 100.0%

100.0%;

100.0%

100.0%: 100.0%

chi2(5)= 76.9623 P = 0.0000

23

chi2(15)=121.8405 P =0.0000



FHOEFEREBRAEREEME
=& EFELVE)AE]

19 REQEHEDORIHKR

EH % RS JEEmE || sYE VEYE St UEYESL
FETHYBEELTEELTLS 103 10.4% 24.6% 9.7% 8.9% 18.2% 4.2% 19.3%
FETHYFSEMYBLTLS 157 15.6% 21.7% 15.9% 14.0% 20.1% 20.6% 10.5%
FETHLEFTEHCEYEYTHS 453 45.9% 43.2% 44.8% 46.9% 41.3% 47.3% 41.9%
BEFTHYRBLSS 74 8.6% 1.7% 10.3% 9.3% 3.6% 10.9% 4.8%
BEFchYBAREELTLS 122 13.7% 4.1% 16.9% 16.1% 8.6% 10.6% 18.1%
Z 0t
|EE 43: 4.4% 0.0%: 1.5% 4.1%: 6.4%: 4.5%: 0.0%
B3 Il 965} 100.0%]| 100.0%: 100.0%]| 100.0%: 100.0%: 100.0% 100.0%|

chi2(6)= 40.7083 P = 0.0000 chi2(18)=44.8514 P =0.0269

20 HEFIR

EH % BFe | SEERE || SUE [ veuE P SR OEYESL
IRAIEAL (OM)
1~50FMAXRM
50~100FAMAkXH
100~200KFMKH 43 4.1% 43.9% 0.0% 0.8% 21.0% 0.0% 0.0%
200~300FMkKHE 49 4.7% 11.4% 5.1% 2.3% 12.6% 3.1% 4.8%
300~400FMkKHE 69 6.7% 3.0% 8.7% 4.5% 15.0% 6.4% 10.2%
400~500FMkKHE 83 7.8% 0.0% 10.7% 8.6% 4.9% 10.1% 0.0%
500~600FMkKHE 83 8.6% 0.0% 11.7% 9.0% 5.3% 12.8% 2.7%
600~700FMkKHE 62 6.4% 0.0% 8.6% 6.7% 0.9% 11.5% 5.8%
700~800FMKE 81 8.8% 0.0% 12.3% 10.1% 3.6% 11.3% 0.0%
800~900FMKE 79 8.4% 4.8% 11.0% 9.9% 2.8% 7.3% 18.6%
900FMLL 209 23.6% 7.4% 31.6% 29.2% 8.5% 17.5% 28.3%
Hhirb i 61 5.9% 1.7% 0.0% 5.4% 2.7% 7.8% 5.3%
mEE 127 12.9% 6.1% 0.0% 12.9% 17.9% 7.6% 19.7%
B 965 100.0% 100.0% 100.0% 100.0% 100.0% 100.0% 100.0%

chi2(13)= 551.1569 P = 0.0000 chi2(39)=302.5649 P = 0.0000

M21 BEI1FRICEENBYL TERNAER LA

EH % Bire | EERE (| Sy | veuE | S [ UEYESLL
KL< BHot=
tEEEH-T 10.2% 2.0%
FNihoT- I 18.1% 5.1%
Fot-{hot 62.7% 91.9%
mEE
B 965! 100.0% 100.0%: 100.0% 100.0%: 100.0%: 100.0%: 100.0%

chi2(4)= 70.9118 P = 0.0000 chi2(12)=68.1100 P = 0.0000

22 BXE1EMICESENEY LB TRENAEZLAMN DT

EH % B FHEFT1S AtYE VEYE =K VEYELL
KL< Hot= 32 3.3% 12.6% 2.2% 2.0% 8.7% 1.1% 7.5%
LEEEHST- 35 3.3% 10.1% 2.7% 2.8% 6.4% 1.4% 0.0%
FhicHo1= 106 10.3% 19.4% 9.5% 8.2% 19.1% 9.5% 9.1%
FofK i o1 777 81.7% 57.2% 85.4% 85.5% 62.7% 87.9% 83.4%
FEEE
B 965 100.0% 100.0%: 100.0% 100.0%: 100.0%: 100.0%: 100.0%
chi2(4)=" 52.1506 P = 0.0000 chi2(12)=56.5544 P = 0.0000
23 (a) BENSE
EH % B/ JEEFT1S AtYE VEYE =R VEYELL
Hot= 54 5.0% 18.7% 3.6% 2.9% 15.0% 2.1% 0.0%
ot 852 88.7% 71.7% 93.1% 91.4% 73.7% 94.6% 95.2%
ZE LA 29 3.1% 6.4% 2.0% 2.9% 4.5% 2.4% 4.8%
EEE 30 3.3% 3.3% 1.3% 2.8% 6.9% 0.9% 0.0%
B 965 100.0% 100.0% 100.0% 100.0% 100.0% 100.0% 100.0%
chi2(3)= 44.3659 P = 0.0000 chi2(9)=59.3247 P = 0.0000
23 (b) ERHE
EH % B/ JEEFT1S Y VEYE =R VEYELL
Hot 47 4.1% 13.9% 3.3% 3.1% 8.6% 1.9% 0.0%
ot 860 89.6% 75.6% 93.6% 91.3% 80.0% 94.7% 95.2%
ZE LA 28 2.9% 6.4% 2.0% 2.7% 4.5% 2.4% 4.8%
EEE 30 3.3% 4.1% 1.1% 2.9% 7.0% 0.9% 0.0%
pinoys 965 100.0% 100.0% 100.0% 100.0% 100.0% 100.0% 100.0%
chi2(3)=" 32.6974 P = 0.0000 chi2(9)=26.8049 P = 0.0049
238 (c) HRHS
EH % EfE JEEFT1S Y VEYE =R VEYELL
Hot 52 4.6% 16.0% 3.9% 3.6% 9.0% 1.4% 4.8%
ot 828 86.9% 71.1% 90.8% 88.2% 78.0% 93.7% 87.3%
BN A 52 5.0% 8.1% 4.1% 5.2% 5.3% 4.0% 7.9%
EEE 33 3.5% 4.8% 1.3% 3.0% 7.8% 0.9% 0.0%
B 965 100.0% 100.0% 100.0% 100.0% 100.0% 100.0% 100.0%
chi2(3)= 33.3613 P = 0.0000 chi2(9)=26.2731 P = 0.0049

24



FHOEFRERERSEMR
[ZE&FLE)RE]
B23 (d) RE
EX % EfE | SHEFE || sYE I UEYR =t | OEYBLL
ot 30 31% 14.1% 2.2% 1.8% 8.5% 1.0% 0.0%
ot 544 55.4% 47.6% 55.4% 55.1% 52.7% 60.0% 59.6%
EERAR 334 35.4% 31.0% 38.6% 36.7% 28.7% 38.0% 40.4%
mEE 57 6.2% 7.3% 3.8% 6.5% 10.2% 0.9% 0.0%
B 965 100.0% 100.0% 100.0% 100.0% 100.0% 100.0% 100.0%
chi2(3)= 35.2291 P = 0.0000 chi2(9)=38.2312 P = 0.0004
23 (o) FEA—Y
B % B | JHEFE || sYE [ UEYR =t DEYBESL
ol 18 1.7% 2.0% 1.5% 1.4% 3.1% 1.0% 0.0%
o f 610 61.9% 42.7% 65.0% 67.9% 36.2% 68.0% 62.7%
EERAAR 276 29.9% 40.8% 30.2% 25.9% 44.6% 28.8% 34.6%
mE% 61 6.5% 14.5% 3.3% 4.9% 16.1% 2.1% 2.7%
1w 965 100.0% 100.0% 100.0% 100.0% 100.0% 100.0% 100.0%
chi2(3)= 30.1716 P = 0.0000 chi2(9)=68.8474 P = 0.0000
23 (f) ZDithDEH
B8 % B | JHEME || sYE [ UEYR =t DEYBESL
ol 65 6.6% 12.7% 7.0% 51% 13.5% 6.9% 0.0%
o f 524 53.4% 39.3% 56.2% 56.5% 36.2% 58.8% 63.3%
EERAAR 301 31.5% 30.4% 32.5% 31.4% 33.7% 29.1% 32.4%
EmEE 75 8.6% 17.6% 4.4% 7.1% 16.6% 5.2% 4.4%
B 965 100.0% 100.0% 100.0% 100.0% 100.0% 100.0% 100.0%
chi2(3)= 30.4699 P = 0.0000 chi2(9)=42.5172 P =0.0001
fi24 ChZETIC1IO0OFALUELEDBEEELESL (EHEE]
B % EFE | IEEFE | sYE T UEYR =it OEYBLL
EEEH 965
L BE-IREE 184 18.4% 22.5% 20.0% 16.0% 21.8% 24.4% 15.9%
2. Btk 59 6.5% 16.0% 5.7% 5.1% 13.2% 4.8% 0.0%
3 BEOA
4. K"A
5 BAZERERE (E2) 96 10.9% 8.6% 12.6% 9.6% 17.6% 9.0% 10.6%
6. 8817 - BERZE 232 24.4% 22.6% 26.3% 23.9% 19.3% 24.4% 50.7%
1HBESRMSM 79 8.3% 12.8% 9.1% 7.3% 15.9% 3.5% 2.7%
8. Z 0t 32 3.4% 6.4% 3.8% 3.0% 2.8% 4.7% 16.3%
9.1 OFAMERSER/Y 2 LiFAL 388 39.3% 27.6% 39.0% 43.1% 30.3% 36.8% 17.6%
WmEZ 101 10.5% 6.8% 7.7% 10.1% 16.7% 7.1% 0.0%
1. chi2(1)=  0.3006 P = 0.6216 chi2(3)=6.7440 P =0.1564
2. chi2(1)= 12.7200 P = 0.0014 chi2(3)=16.4292 P = 0.0069
3. chi2(1) = 0.2964 P = 0.6130 chi2(3)=16.4292 P = 0.6153
4. chi2(1)= 5.6680 P = 0.0292 chi2(3)=12.4438 P =0.0342
5. chi2(1)=  1.1663 P = 0.2947 chi2(3)=8.8878 P =0.0674
6. chi2(1)= 05535 P = 0.5323 chi2(3)=12.5880 P =0.0273
7. chi2(1)= 1.1997 P = 0.2852 chi2(3)=18.0539 P = 0.0005
8. chi2(1)= 1.3216 P = 0.3844 chi2(3)=14.3857 P = 0.0285
9. chi2(1)=  4.2169 P = 0.0521 chi2(3)=14.7762 P = 0.0085
#EE% chi2(1)=  0.0875 P =0.7796 chi2(3)=11.2595 P = 0.0533
25 B%1EMOEEE
M % EFE | IFHEFE || AUE T 0EVE =it | OEYELL
0 A LTHEFE
1
2 22 2.5% 6.2% 2.3% 2.0% 5.9% 0.0% 10.1%
3 50 4.5% 13.6% 3.5% 4.1% 7.4% 3.6% 4.4%
4 64 7.1% 8.9% 6.8% 6.8% 7.2% 8.6% 7.9%
5 169 16.7% 21.0% 14.6% 14.3% 20.7% 16.3% 12.8%
6 81 9.2% 4.5% 9.0% 9.8% 11.8% 5.3% 4.8%
7 140 14.1% 8.1% 16.0% 14.1% 14.5% 13.4% 13.8%
8 184 20.3% 21.5% 22.8% 21.6% 16.3% 21.3% 28.1%
9 88 8.9% 8.0% 9.8% 10.0% 4.3% 11.2% 7.6%
10V LThEY 131 13.3% 5.0% 12.7% 14.6% 6.9% 16.3% 3.1%
WmE% 20 1.8% 0.0% 0.7% 1.8% 3.4% 0.9% 0.0%
wH 965 100.0% 100.0% 100.0% 100.0% 100.0% 100.0% 100.0%
chi2(11)= 37.1905 P = 0.0010 chi2(33)=66.1169 P =0.0156
B26 (a) £ERE
] % || EmE | SEEME || sYE T 0EYE =tk OEYBSL]

FMALELIEAHZ  REFA
FAzZ®RE. BEFEHELZLTOEN
FALED S ERHELHT

30

3.1%

10.2%:

2.0%

1.8%:

10.4%:

0.0%;

0.0%

FHEZHATIOICERBLH S 1.9% 10.1% 1.1% 0.8% 8.0% 1.0% 0.0%
BEUICBELG VD FIEFRN 784 81.4% 51.5% 88.0% 87.3% 52.1% 90.1% 87.2%
FEBKREML AL 28 3.0% 4.8% 2.4% 3.1% 1.7% 1.6% 5.3%
EEE 12 7.6% 14.1% 4.1% 5.8% 16.9% 5.4% 0.0%
W 965 100.0% 100.0% 100.0% 100.0% 100.0% 100.0% 100.0%

chi2(6)= 92.6144 P = 0.0000

25

chi2(18)=162.3586 P = 0.0000



%ﬁ@i,ﬁ%ﬁ.ﬁ REREEMR
[(F& (FLHF)RRE]

B26 (b) £FEIUES

[ ma | o || &A@ | SHEME | Sl | vsvl | SR [ oeyEsL]
FALIC ENDE  REFR 18} 2.2% 5.2%: 1.9% 1.4%: 7.4%: 0.0% 0.0%

FAZ®RE. EFEHELLTOEN
FALED S ERHE DT
FHEZFAT SOICERENH D

EFROCBEL L HESRI 617 63.6% 41.4% 68.9% 67.5% 39.1% 71.1% 87.2%
HEBRERS L 216 22.8% 25.1% 22.5% 23.7% 24.6% 18.6% 5.3%
e 74 7.5% 14.6% 3.7% 5.7% 17.0% 5.3% 0.0%
B 965! 100.0%  100.0%i _ 100.0%|  100.0% _ 100.0% _ 100.0% __ 100.0%
chi2(6)= 56.1265 P = 0.0000 chi2(18)=118.5087 P = 0.0000

26 (o) BFRULXFEUAS

[ © 9% [ impieg | deiEmisg || SuB | weuBm T S [ osyBESL|
FALRC EN% o REAR 2.5% 7.6% 1.7% 0.6%  12.6% 0.0% 0.0%

FAZEHRE. B EHE-LTLEN
FALED R HE DT
HEZFAT SOICERENH D

REMITBER D HIERRS 70.0% 40.4% 76.4% 76.0% 37.8% 82.5% 79.7%

HEBKREML AL 167 17.7% 24.4% 16.6% 17.4% 24.6% 9.0% 10.1%

REE 77 7.8% 16.4% 4.2% 5.6% 16.7% 7.6% 0.0%

B 965 100.0% 100.0% 100.0% 100.0% 100.0% 100.0% 100.0%
chi2(6)= 83.9875 P = 0.0000 chi2(18)=224.5151 P =0.0000

26 (d) REHKEFH

[ % ¢ % | ®wme | sEmE || Syl | Oyl PO Stk [ osyBSL|

FALEI LD BEFMA . 34.7%: . 3.3%: 53.2% 2.7%;
FIRZ®RE. BEfEHELZLTOEL
FALED R HE DT
FEZFAT HOICERENH D

REMIBEL D HIERRS 676 71.3% 38.6% 78.9% 80.7% 27.0% 82.8% 79.7%

FlIERERER SR 73 7.9% 10.3% 6.9% 9.1% 6.7% 4.4% 5.3%

EEE 68 6.7% 11.9% 3.5% 5.7% 10.5% 6.6% 0.0%

W 965 100.0% 100.0% 100.0% 100.0% 100.0% 100.0% 100.0%
chi2(6)= 75.4326 P = 0.0000 chi2(18)=357.1478 P = 0.0000

126 (e) REBMRFY

[ s ¢ 9% [ mpie [ skEmie || Sy | osus | =it [ 0LYBSL |

FALEZ LD BEFMA 126} 11.9% 34.5%: 8.9% 2.1%; 56.0% 3.9%; 7.5%
FIRZ®RE. BEEHEZLTOEL
FALED R HE DT
HEZFHATIOICERBELNH D

BHFQIZDERLHIERRN 652 68.6% 36.5% 76.1% 78.1% 23.4% 80.5% 79.7%
HEAKEASHEL 100 10.7% 10.2% 10.3% 13.1% 6.4% 6.5% 5.3%
EEE 72 7.3% 13.6% 3.7% 6.0% 11.3% 7.2% 0.0%
B 965 100.0% 100.0% 100.0% 100.0% 100.0% 100.0% 100.0%
chi2(5)= 86.4232 P = 0.0000 chi2(15)=417.8296 P = 0.0000
B26 (f) PEHE H26f
I 7 % [ wEmE | ERS || SYE | UEYE | St [ osUESL|

MALEIENH D REFA . 40.3 . 5%; 51.2% 13.7%;
FMAZRE. BEHEEELTLEN
MALEM >z HELHT
HEZMAT 2OICERENH D

RFHICBED L FIERRS 65.8% 35.2% 71.6% 73.9% 26.9% 74.8% 81.8%

FIERARER SR 68 7.4% 5.9% 6.6% 8.2% 7.2% 1.5% 5.3%

"EE 64 6.5% 13.4% 3.1% 4.7% 13.5% 6.3% 0.0%

wH 965 100.0% 100.0% 100.0% 100.0% 100.0% 100.0% 100.0%
chi2(6)= 60.3721 P = 0.0000 chi2(18)= 204.7883 P = 0.0000

26 (g) MPXES

EH % EFE SEHEFTS SfYH VEYH =K VEYELL
FALLEIEAHS REFA 243 21.3% 34.2% 21.3% 16.9% 41.1% 21.7% 13.3%
FIRz®RE. BEFEHEZLTOEL 23 2.0% 3.1% 2.0% 2.0% 2.3% 1.4% 0.0%
FALEN S ENHELDHT
HEZFATIOICENELAH D
BFHICBEL IR R 531 59.2% 34.3% 63.7% 65.2% 27.3% 66.6% 81.4%
FIERAKEE LML 78 8.8% 11.8% 7.8% 9.2% 12.0% 2.2% 5.3%
BEE 68 6.8% 14.6% 3.3% 5.1% 14.7% 4.7% 0.0%
W 965 100.0% 100.0% 100.0% 100.0% 100.0% 100.0% 100.0%

chi2(6)= 40.7121 P = 0.0000 chi2(18)=108.4886 P = 0.0000

26



Ft @E,ﬁsﬁ HEREEME
[F&(FLE)RE]

B26 (h) ZEBEF v LU OXEEN

e % EE FHEFTE AYE VEYE =44 VEYELL
FMALEZ LD H D REFA 41 4.1% 11.0% 4.4% 1.9% 15.4% 1.2% 0.0%
MAZHE. BHEEZLTLGEN 23 2.1% 5.2% 2.1% 1.5% 3.0% 4.1% 0.0%
AL AHESHT-
HEZMATLOICERENH D
BEBICBELZ O FIESR 537 56.7% 30.2% 61.7% 63.0% 27.0% 61.9% 72.3%
HIEBARZHS AL 257 26.6% 29.1% 26.0% 26.0% 31.1% 23.3% 27.7%
EEE 79 8.1% 20.1% 3.7% 5.6% 18.5% 7.5% 0.0%
fiyd 965 100.0% 100.0% 100.0% 100.0% 100.0% 100.0% 100.0%

chi2(6)= 62.2953 P = 0.0000 chi2(18)=135.9176 P = 0.0000

B26 (i) Z0ih

EH B FEEFTTS
MALEIEDHD REFA
FAZEE., EHEHE-LTLAN
FMALEM > HELHT
HEZMAT2OICERENH D
BEBICBELZ O FIESRN 161 17.1% 10.6% 18.0%
HIEBARZHS AL 70 7.2% 11.5% 7.9%
EEE 730 75.4% 77.2% 73.9%
fiyd 965 100.0% 100.0% 100.0%

chi2 =8.8182 P =0.1340

27 FHROLEELCALOEFLETHS-BOHEME [(BHREE]

EH % EfFE FEFE A=Y VEYE =t VEYELL

EEEK 965

1. fBALARPIR O, BULBHAT 36 3.6% 6.5% 3.8% 2.1% 9.9% 2.6% 2.7%
2 FETHMEA., FRREXBE S — 2.3% 2.2% 2.4% 1.1% 6.4% 2.8% 0.0%
3. HEHMEA 0.8% 1.3% 1.5% 0.0%
4 ERBFEMED 0.4% 0.0% 0.0% 0.0%
5. %%, REM. YHEOEELLE 1.3% 3.0% 2.8% 10.1%
6 REEE - REZR 0.1% 1.5% 0.5% 0.0%
1. RO RELHES 0.4% 1.1% 1.0% 0.0%
8. RMEAT - REEUH— 0.2% 0.5% 1.9% 0.0%
9. ,\A—T7—% 0.5% 1.8% 0.9% 0.0%
10. Rik - #ikk 39.9% 44.2% 49.0% 35.6%
1. RA - HIA 9.9% 14.9% 13.8% 12.8%
12.408—3y FOBEKEYA b 1.2% 0.4% 1.4% 0.0%
13. 2Dt 1.0% 1.0% 3.2% 13.2%
14 T 2HEFOEAA L 7.1% 11.4% 4.0% 4.4%
15 KD BEE AL 42.6% 19.8% 39.1% 36.7%
EEE 5.1% 7.4% 4.7% 0.0%

10.
11.
12.
13.
14.
15.
REE

. chi2(1)= 1 4273 P = 02570
. chi2(1)= 0.0070 P = 0.9196
. chi2(1)=  0.0140 P = 0.8901
chi2(1)=  0.3366 P = 0.5540
chi2(1)=  13.0371 P = 0.0038
chi2(1)=  4.9725 P = 0.0237
chi2(1)= 0.5510 P = 0.4897
. chi2(1)=  0.1553 P = 0.6669
. chi2(1)=  0.0285 P = 0.8475
chi2(1)=  4.4548 P = 0.0596
chi2(1)=  2.8626 P = 0.1383
chi2(1)=  0.9938 P = 0.3604
chi2(1)=  3.0564 P = 0.2409
chi2(1)=  0.8794 P = 0.3620
chi2(1)= 24.6252 P = 0.0000
chi2(1)=  0.8724 P = 0.3206
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chi2(3)=22.6831 P =0.0001
chi2(3=16.8805 P = 0.0009
chi2(3)=1.1670 P =0.7848
chi2(3)=1.3264 P =0.7848
chi2(3)=11.7824 P =0.0691
chi2(3=6.5846 P = 0.0554
chi2(3)=1.9360 P =0.6372
chi2(3)=6.4091 P =0.1278
chi2(3)=3.1033 P =0.3796
chi2(3)=4.4136 P = 0.3635
chi2(3)=4.0134 P =0.4243
chi2(3=1.2057 P =0.7312
chi2(3)=26.6621 P =0.0003
chi2(3) =6.2323 P = 01414
chi2(3) =27.4288 P = 0.0002
chi2(3) =3.0063 P =0.4343




